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General Instructions:
1. All questions are compulsory.
.3 The question paper consists of 31 questions divided into four sections A, B, C and D.

Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted. &

TUE-37 / SECTION-A

9 e 1 94 T YA H 1 3 T
Question numbers 1 to 4 carry one mark each.

1 (14641)025 1 YA I[ HIHC 1
Find the value of (14641)02.
2 It SgYE 12+ 8x +k I Th YLIH —4 B, T k HT 7F T FHifog ? 1
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What is the value of k in the polynomial x?+8x+k, if —1 is a zero of the polynomial ?

E 3 WY HI 2: 7 F IR H &1 3T HI0N A AY T K9

Two supplementary angles are in the ratio 2: 7. Find the measures of angles.

4 37 gt figali & Mz ol oo fofay, S & s x-o7e ol y-o1a W feua €1

Write the ordinate and abscissa of all the points which lie on the x-axis and y-axis respectively.

US-9 / SECTION-B SRy
~N

T TE 5 9 10 ® TAF & 2 3F ) JSUNIL TUTORIAL

Question numbers 5 to 10 carry two marks each. Chase Excellence

5 1 T (0) TR WA HeA ¥7 Sio SeR o il i)

Is zero (0) a rational number ? Justify your answer.

6 px) = x4 — 328 + 22 + x—1Fx—2 § U 3 W A JI%A I R

Find the remainder when p(x) = x4 — 323 + 2x2 + x~1, is divided by x—2.

7 & ¢ spfa § AC=BD § @ fag #ifSe i AB=CD 71

In the given figure AC=BD, then prove that AB=CD.

8 A ABCH, /BAC &1 gafgusish AD ® | fag wifse i AB>BD %1

In A ABC, AD is the bisector of Z/BAC. Prove that AB>BD.
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In the figure, the co-ordinates of one vertex are missing. Find the missing co-ordinates, if
£C=90°.

C coc B B 7

A (2,3)

10 firelt By 1 3T 100 m, 120 m 3R 140 m &1 391 Sahe T FTY) (V6 = 2.45 1 7AW 2
HITTT ) '

Sides of a triangle are 100 m, 120 m and 140 m. Find its area. (Use /6 = 2.45)

EUE-H / SECTION-C

W e 11 9 20 ¥ WAF F 3 31 B
Question numbers 11 to 20 carry three marks each.

- e T W /13 # fefud s 3

Locate J1_3 on the number line.

12 TS W 3
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13 FETR ax® + bx? +x— 6 Tl (x+2) TH YOGS A I (x—2) ¥ YT 27 T IGEFA 4 ST E) a 3iRb 3

T Hifeg |
The polynomial ax3 + bx2 + x—6 has {x + 2) as factor and leaves remainder 4, when divided by {x— 2).
Find a and b.
14 TLEl BT 3
3 74
3 x Ox
— x+ 1) -27 — — —
[2 ! 4 2
Simplify :
3 2
[i x+1] % 3, 2%
2 4 2

15 w Tyt ABC & X afit Y Fww: AC @i BC & #ea-farg 38 ¥R ® i AX=CY & @ wise fv 3
AC=CB#®I

In a triangle ABC, X and Y are the middle points of AC and BC respectively, such that
AX=CY, show that AC=CB.

16 fast §, AABC #1 T gesll AB aiR AC W3 fig P el Q 7 W&R ¥ fF AP=AQ®I Tg 3
Hifsw fF CP=BQ &1
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In the figure, P and Q are two points on equal sides AB and AC of AABC such that AP= AQ.
Prove that CP= BQ.

17 fa &, jm &1 fog PR RE £ 1+ 22— 23=180°%1

il 11

E

In the figure, I|jm. Prove that £1+ 42— 2£3=180°

il 8 U]
E

18 € sl H, OP|RS & 13fk LOPQ=110° 7 £SRQ=130° &, &l LPQR % T4 I FHIFTC :
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In the given figure, OP||RS. If ZOPQ=110° and £SRQ=130°, find ZPQR.

R
S

19 forey wrolt 3 f fiigall (x, ) ), 18l R RE F IugER TRl BT W g, FEa @ H 3

sTeifiag wife :
x 2 4 ) = 6 0
y 5 -3 3 5 il 25

Plot the points (x, 1) given in the following table on the cartesian plane, choosing suitable
units of distances on the axes :

X 2 4 —4 =g 6 0

v 5 = 3 5 | 25

20 IS ABCD ¥F SR % U &d F1 &6a 9 witag, 5% AB = 50 m, BC = 18 m, CD = 82 3
m, DA = 50 m 3R ZCBD = 90° %1

Find the area of a quadrilateral field ABCD in which AB = 50 m, BC = 18 m, CD = 82m, DA

= 50 m and ZCBD = 90°.
/ \ @
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EUE-T / SECTION-D

v9 Hem 21 431 H Y3E & 4 3F B
Question numbers 21 to 31 carry four marks each.
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24

25

26

27
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£+£ 3 w0 1 TR FART SR R e T A G, AR 2 = 1414 %1
Rationalize the denominator of %i——gr and hence find its value, if ﬁ =1.414.
T i s ; . . 4
0.6 407 +047 #1 P ¥ wu ¥ =gaa Fifag, &l p g qufe Eaem q=0%1
e b . N/ \
Express: 0.6 + 0.7 + 0.47in the form = where p and g are integers and q=0 : )
q :
JSUNIL TUTORIAL
Chase Excellence
TUFEE FITT : (a+2b)° + (2a—c)’ —(a+2¢)° +3(a+2b) (2a—c)(a+2c) 4

Factorise : {a+ 2b)3 + (2a— +c)3 —(a+ 2c)3 +3{a+2bh) (Za —c) (a+2¢c)

4
e flx)=x2—5x+7%, AEQR)—F(—1)+f G’;) =1 \F Fepife
if f(x)=x2 —5x+7, evaluate f (2) —f(— 1} +f G’—)
4

fag T 6 @2- b2 + (2 — AP+ (*—aD)P=3 (a+b) (b+c) (c+a) (a—b) (b—0) (c—a) &1
Prove that : (a2 —b?)2 + (02— A3 +(c?~a?)3=3 (a+b) (b+¢) (c+a) (a—Db) (b~¢) (c~2)

TrEET WA W YEm wW g, TRY R (m-n), (b-p) o (p—m) TER 4

m(o? - p?) +n(p? ~m?) + p(m® —r?) F TFREE 1
Using factor theorem, show that (m-—n), (@®-p) and (p—m) are factors of
m(n? —pz) +n(p?—m?) +p(m2—n2).

e i § X H T 3 SIER 96 TAHR SFH F FUS T TN & SHfH s T g 4
SR, ISR qu1 gAeE STl s et $OS S S| 91 T TS FYF T 87
TIfes TS B T AT i stEws €2 (| el i fafe)

In Vedic period, squares and circular shaped altars were used for household rituals, while altars whose
shapes were combination of rectangles, triangles and trapeziums were used for public worship.
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Is the statement true ? Why is it important to have places for public worship ? (provide three values)

spfa  afg 21 =43, 22 =£4 T £3 =241 1 3 2 w1 wery fafew) giee e 4
a1 1 SN GO | g eifitEd gfee ® Q) e T fafe \ -
/ \ S

357
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In the Fig., if £Z1 = /3, 22 =/4and L3 = /4. Write the relation between £1 and £2, using Euclid's
axiom. Also give two more axioms other than the axiom used in the above situation.

/ >
/ /"’/ i
/ /

ferw e For  y %1 T W HAAY AR LEOB, /FOA 3t ~COD ¥ra SIS | 4

Sy C_)Zy

In given figure determine the value of y and hence find ZEOB, Z/FOA and £COD.
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R H, ABC U wafgarg e ¥, il AB=AC ® 991 BC & T IME 9fg LA=50°% @ 4
ZLMC 9/ it |
A

Ja sy

L‘L

-L’;‘.'f’ ) \‘1\/! 2 Ea RS
/z’ K‘\ } e
L B 56 A\
B /' \ -&':. f”} P | '/ ‘_\{:

¥

In the figure, ABC is an isosceles triangle in which AB=AC and LM is parallel to BC. If
£A =50, find ZLMC.

A&
7 %ﬁ" \
L M
f'/ \hh'-_
/‘,-"/ \\\-
B4 e

£ \o 4
faret B 3 0T (v —40)°, (x-zo)oaﬂz[g -m] | » 1 HF T HRT 7 R B & w0
i i |

The angles of a triangle are (x—40)°, (x—20)° and (-;— - 10] . Find the value of x and then the

angles of the friangle. f
. 8 2HFBHBHRFHAEHR2 Page 9 of 9
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